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A Statistical Analysis of Mixed Data from Test of Life in
Weibull Distribution under Constant Accelerated Stress
Wu Shaomin

(Dept. of Manag. Info. Sci., Huaqiao Univ., 362011, Quanzhou)

Abstract A statistical analaysis is made on the reliability of the mixed datafrom life test under constant ac—
celerated stress. The Weibull distribution as a life distribution will get rid of the limitation of shape parame—
ter which is irrelevant to accelerated stress. The parameter of life distribution under normal stress is gaven,
the estimate of average life and variation coefficient are also given-
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